Hw 1|

P67 () AV =Ed

200V
E=———=1111 kV/m
1.80x10~> m

b  E=—
S

o=(111x10* N/C)8.85x102 C?/N-m?)=

<, A (885x107 C?/N-m?)7.60 cm?)(1.00 my100 cm)®
= =

=| 3.74 pF
© d 1.80%x107° m
d AV ==
% C
Q=(20.0 V)(3.74x 1072 5}: 74.7 pC
XS4 _600x105 F

- P26.8 C=

ke, A (1D(885x1072)(210x1072)
e 60.0x 105

d=310x107 m:

1@6 (a) Capacitors in parallel add. Thus, the equivalent capacitor has a value of

Cp =C; +C, =5.00 HE+12.0 4F = 17.0 4F |.

(b) The potential difference across each branch is the same and equal to the voltage of the
battery.

(©) Qs =CAV =(5.00 &F)(9.00 V)=

and Q;, =CAV = (12.0 &F)(9.00 V)=
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*P27.47  The energy taken in by electric transmission for the fluorescent lamp is

3600 s
1h

cost =3.96 x 10° 1(50.{)8 Py h =$0.088
kWh {1000 \ J )\3600s

For the incandescent bulb,

Abt=11 J/s(100 h)[ ):3.9@10*“}

» szmW(IOOh)(BGO:SJ=1.44xIO7]
cost=1.44x107 ] ﬁﬂ%— =%$0.32
3.6x10° ]

saving = $0.32 - $0.088 =

P27.60 2 wires — ¢ = 100 m
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(c) Fuires = 1*R=(110 A)*(0.036 0 ) = [T36 W
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